
English Grade IX 

Task 1:

Composition

Attempt on loose sheets

Write on any two of the following topics:

Description

1.  Describe a long journey by car or public transport that passes through different kinds of 
scenery. (Remember that you can describe your fellow travellers as well as the scenery)

Argument

2. Do you think countries should spend money on saving wild animals from extinction?                                       
Give reasons and examples to support your views.  

Narrative

3. Write a story which includes the words, “I hadn’t spoken to my sister for some time but on this 
occasion I just had to call her.”

Task 2:

Read the two inserts and attempt the attached past paper for practice.





















A large tank contained 2.3 6 
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Name: ___________________________________ Sec: _____ Week No. ____ Date: __________________

Grade IX
Practice Worksheet No. 1 (OL)
Concepts covered:

Linear Inequalities in One Variable
Indices and Standard Forms

(a) Evaluate   3 32 4
#

- .

(b) Evaluate   3 30- .

(c) Simplify   y y42
1

4
1

# .

(a) Write the number 0.00023 in standard form.

(b) Evaluate   8 10 9 109 8
# #- .

  Give your answer in standard form.

Evaluate.

  (i) 36
2

1

  (ii) 5-2

 (b) 2 8 2
k2 3

5

# =

  
Find the value of k.

Write 0.000 084 5 in standard form.

 (b) .p 2 7 10
11

#=        q 9 10
12

#=

  
Evaluate the following.

  
Give each answer in standard form.

  (i) p q+

  (ii) p q'

Convert 0.8 kilometres into millimetres.

 (b) Evaluate  (6.3 × 106) ÷ (9 × 102),  giving your answer in standard form.

× 106 litres of oil.
During a 4 week period, 1.2 × 105 litres were used.

 (a) Calculate how many litres of oil remain in the tank after the 4 weeks.
  Give your answer in standard form.

 (b) Giving your answer in standard form, calculate the average number of litres used each week.

#

#

7 (a) Simplify   (3a4)2.

 (b) Evaluate   �1
4�

–2
 .

 (c) Given that   x3 = 27 0,   find x.

 (d) Evaluate   12
1
2

3
3
2

 .
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8  (i) 

10 (a) 
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Solve the inequality   ( )x10 3 1 241 G+ .

  (ii) State the number of integers, x, satisfying   ( )x10 3 1 241 G+ .

It is given that   13 � 7 – 2x � 18   has the solution   a � x � b .
Find the values of a and b.

Solve    
3x − 2

5
 = 

x
3

 .

 (b) Given that y is an integer and  −3 < 2y − 6 < 4 , list the possible values of y.



(Percentage, discount, money, commision, tax, simple interest, ratio)

3     (a) 

2 

1

Practice Worksheet No. 2 (OL)

Name: ___________________________________ Sec: _____ Week No. ____ Date: __________________

Grade IX

Concepts covered:
Artithmetic

(a) Amir buys a camera for $250 and sells it for $200.

  
Calculate his percentage loss.

(b) Meera invests some money at a rate of 2% per year simple interest.

  

How many years does it take for her investment to double in value?

In 2017, Lauren had a monthly income of $1800.

 (a) How much was her total income in 2017?

 (b) From her monthly income of $1800, Lauren paid the following.

   Rent $500

   Bills $250

   Food $120

   Travel $240

   Clothes $ 70

  (i) Each month, Lauren saved the rest of her income.

   What percentage of the $1800 did she save?

  (ii) Lauren’s monthly rent was increased by 3.6%.

   Calculate the new monthly rent.

 (c) In 2017, Lauren’s monthly income of $1800 was 25% less than her monthly income in 2016.

  Calculate her monthly income in 2016.

 the bank took as commission.  

Calculate the average profit it made each second. 

During a 20 week period in 2007, a bank made a profit of $378 million.
  

  (i)  

  (ii) During the same 20 week period in 2008, the profit was $945 million.

   For this 20 week period, calculate the percentage increase in the profit from 2007 to 2008.

  (iii) Find the ratio of $378 million to $945 million.
   Give your answer in the form m : n , where m and n

 (b) Mary changed 480 euros into dollars.
  The exchange rate was $1 = 0.6 euros.
  The bank took, as commission, 2% of the amount that had been changed.

  Calculate the number of dollars
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(d)

(c)

(b)
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4 Neema travels on a business trip.

(a) The total cost of her flight is $406 including tax.
  The cost of the flight excluding tax is $350.

  Calculate the tax as a percentage of $350.
  

  
  

  

  

Neema changes $245 to euros (€) for the trip.
  The exchange rate is $1 = €0.73.

  On the trip she spends €124.
  When she returns, she changes the remaining euros back to dollars at a rate of $1 = €0.76 .

  Calculate the amount of money she receives.
  Give your answer correct to the nearest dollar.

On her next trip, Neema hires a car.
  She drives a total of 657km in the car.
  The car uses fuel at a rate of 4.3 litres per 100km driven. 
  Neema pays $1.29 per litre of fuel.

  Calculate the amount she spends on fuel during the trip.

Neema stays in a hotel for 7 nights.
  This is her hotel bill.

Item Cost

7 nights at $.................. per night $805

4 dinners at $.................. each $..................

Total before tax $..................

Total including tax at 6.5% $996.84

  Complete the missing values in the hotel bill.
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5 (a) Ada and Bill own a company.
  In 2008 Ada invests $22 500 in the company and Bill invests $37 500.

  (i) Express  22 500 : 37 500  in the form  m : n,  where m and n are the smallest 
possible integers.

  (ii) The profit made by the company in 2008 is shared in the ratio of the amounts invested.

   Given that Ada’s share of the profit is $3 600, calculate the total profit made by the 
company.

  (iii) Ada’s investment in 2008 is 121 
2% more than the amount she invested in 2007.

   Calculate the amount that Ada invested in 2007.

 (b) 

LAWNMOWER

$2395
Plan A: Deposit $595 and
12 monthly payments of $171.04

Plan B: Deposit $395 and
24 monthly payments of $

  (i) Rashid buys one of these lawnmowers for $2395.
   Sayeed buys one of these lawnmowers using Plan A.

   In total, how much more than Rashid will Sayeed pay?

  (ii) When one of these lawnmowers is bought using Plan B, the total cost is $3054.20.

   Calculate the monthly payment.

  (iii) In a sale, the price of the lawnmower is reduced from $2395 to $1595.

   Calculate the percentage discount.



3  

2 

1

Practice Worksheet No. 3 (OL)

Name: ___________________________________ Sec: _____ Week No. ____ Date: __________________

Grade IX

Concepts covered:

Coordinate Geometry

Quadratic Equations and Functions
Congruence and Similarity Tests
Area and Volume of Similiar Figures and Solids

–6 –5 –4 –3 –2 –1 10 2 3 4 5 6

6

y

x

5

4

3

2

1

–1

–2

–3

–4

Q

P

L

Points P and Q and the line L are shown on the grid.

(a) Calculate the length of PQ.

(b) Show that the equation of line L is   y x3 1+ = .
(c) Line M is perpendicular to line L and passes through point P.

  Find the equation of line M.
  Give your answer in the form .y mx c= +

A line segment, AB, joins A (3, 2) to B (-1, 10).

 (a) Find the coordinates of the midpoint of AB.

 (b) Find the equation of the perpendicular bisector of AB .

The points P and Q are ( 4, 7 ) and ( 8, −3 ) respectively.  
Find

  (i) the midpoint of PQ, 

  (ii) the length of PQ. 
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5 

4 A

B

C

D

NOT TO

SCALE

The diagram shows triangle ABC.

D is a point on AC such that angle BDC = angle ABC.

 (a) Explain why triangle BDC is similar to triangle ABC.

  Give a reason for each statement you make.

 (b) AC = 10 cm, BC = 8 cm and BD = 6 cm.

  
Calculate AB.

Similar buckets are available in two sizes.
The large bucket has height 30 cm and base diameter 16 cm.
The small bucket has base diameter 8 cm.

8 16

30

 (a) Find the height of the small bucket.

 (b) Given that the small bucket has volume 850 cm3, find the volume of the large 
  bucket.

6 

P

Q

M

N

R

L

In the diagram, LM̂Q = QM̂N = MN̂P = PN̂L.

 (a) Show that triangles LMQ and LNP are congruent.

 (b) Show that MP̂N = MQ̂N.

 (c) The straight lines MQ and NP intersect at R.

  State the name of the special quadrilateral LPRQ.

Hint: 

When LMQ is congruent to LNP then

<MQL =<NPL ...Corresponding angles of congruent triangles

Which implies 

<MPN=<MQN.....<s on a straight line

Use sum of <s in a triangle 



implies AR=BP=QC ....given that AP=BQ=CR 
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8 

7

y

xO

Figure 1

y

xO

Figure 2

y

xO

Figure 3

y

xO

Figure 4

 Which of the figures shown above could be the graph of 

 (a) y = x2 + 2,

 (b) y = (x − 2)(x + 1),

 (c) y = 2 − x − x2 ?

, giving each answer correct to 2 decimal places.  (d) Solve the equation  3x2 + 11x − 7 = 0

A

B C

R

Q

P

  In the diagram, ABC is an equilateral triangle.
  The points P, Q and R lie on AB, BC and CA respectively, such that AP = BQ = CR.

  (i) Show that triangles APR, BQP and CRQ are congruent.

  (ii) It is given that  AB = 5 cm and PQ = 4 cm .

   (a) Find  Area of triangle PQR
Area of triangle ABC

.

   (b) Find  Area of triangle APR
Area of triangle ABC

.

Hint:

Equilateral triangle implies <A=<B=<C=60

And 

AB=BC=CA

Prove using SAS property

(i) implies,

    <BPQ=<RQC=<PRA

    <BQP=<CRQ=<RPA

Which implies:
<PQR=<QRP=<RPQ=60

Which indicates that PQR is also and equilateral triangle 

Implies triangle PQR is similar to triangle ABC



2

Practice Worksheet No. 4 (OL)

1
North

NOT TO
SCALE

C

520

680

950

A

B

125°

The diagram shows the positions of three farms A, B and C on horizontal ground.
Farm B is on a bearing of 125° from farm A.
AB = 950m, BC = 680m and AC = 520m.

(a) Show that .BAC 44 0°=t , correct to 1 decimal place.  
(b) Calculate the bearing of A from C.

(c) Farm A and farm B are joined by a straight track AB.
  Amira walks along the track from A at a constant speed of 4.6km/h.

  Calculate the time it takes for Amira to walk from A to the point that is closest to farm C.
  Give your answer in minutes and seconds, correct to the nearest second.

(d) A helicopter hovers vertically above farm B.
  The angle of elevation of the helicopter from farm A is 10.7°.

  Calculate the angle of elevation of the helicopter from farm C.

Name: ___________________________________ Sec: _____ Week No. ____ Date: __________________

Grade IX

Concepts covered:
Trigonometry

NOT TO

SCALE

S R

QP

58°

15

11

  PQRS is a trapezium with PQ parallel to SR and °SPQ 90=t .

  SQ = 15 cm, QR = 11 cm and °PSQ 58=
t .

Calculate PS.

  (ii) Calculate the obtuse angle SRQ.
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4 (a) 

3 

NOT TO

SCALE

North

62°

L

A

B

8

13

14

The diagram shows the positions of two ports, A and B, and a lighthouse L.

The bearing of B from L is 062°.

AB = 13 km, BL = 14 km and AL = 8 km.

 (a) Calculate the bearing of A from L.

 (b) A boat is located at C.

  C is 11 km from B and °BCA 90=t .

  The boat travels to port A in a straight line.

  Find the distance the boat travels.

 (c) The boat then travels in a straight line from port A to port B.

  It travels at an average speed of 3.75 km/h.

  Calculate the time taken for the boat to travel from port A to port B.

  Give your answer in hours and minutes.

A heavy ball hangs from a point P, 
  11 m above horizontal ground, by means 
  of a thin wire.

  The point D is on the ground vertically below P.
  The point B is on the ground 4 m from D.

                                                                                  

11

4

D B

P

  (i) Calculate the angle of elevation of P from B. 

  (ii) The ball swings, with the wire straight, 
   in the vertical plane PDB.

   When the ball is at X, directly above B,

   DP̂X  = 28°.

   Calculate
                                                                                  

11

28°

4

D

X

B

P

   (a)   PX, 

   (b)   XB. 
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6 

5 A sailing club has five moorings in the river at A, B, C, D and E.
A and B are 12 metres apart.
The positions of A and B are shown in the scale drawing below. 

North

North
A

B

 (a) 

.
 (b) 

C is due west of B and on a bearing of 210º from A.

  
Find and label the position of C

 (c) 

D lies north of the line AB .
  The triangle ABD is equilateral.

  Using ruler and compasses only, construct triangle ABD. 
  Show your construction arcs clearly. 

The bearing of E from A is the same as the bearing of B from A. 

  
Given that AB : AE = 3 : 5, find and label the position of 

ABC is a triangle in which AB̂C = 90°, BÂC = 40° 
and BC = 10 cm.
P is the point on AB such that PĈB = 20°.

A

P

B C

40°

10

20°

 Calculate

 (a) PB,

 (b) AP,

 (c) the perimeter of triangle PBC.
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7 P, Q, R and S are four points on level ground.
PQ is parallel to RS and QP̂S = 60°.
PS and RQ intersect at T.

P

Q

S

T

R

60°

North

 (a) Write down the value of PŜ R . Give a reason for your answer.
 (b) The bearing of Q from P is 070°.
  Find the bearing of

  (i) S from P,
  (ii) P from S,
  (iii) R from S.

 (c) (i) Explain why triangles PQT and SRT are similar.

  (ii) Given that PT = 54 m, TS = 36 m and RQ = 85 m, find TQ.

8 (a) B

C

A
25° 11

5.5

  

In the diagram, AC = 11 cm, BC = 5.5 cm and BÂC = 25°.
  It is given that AB̂C is an obtuse angle.

  Calculate AB̂C.

 (b) 

E

FD

120°

12

5 + xx

  In the diagram, DF = 12 cm, DE = x centimetres and EF = (5 + x) centimetres.

  (i) Form an equation in x and show that it reduces to  3x2 + 15x – 119 = 0 .

  (ii) Solve the equation  3x2 + 15x – 119 = 0,  giving each answer correct to 3 decimal 
places.

Find the length of EF in millimetres, correct to the nearest millimetre.  (iii) 




























